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1 65 X &4 =
2 7L X 33 =
3 L& % 37 =
4 7L X /&=
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13 /O34E  + L6 =
14 /2075 + 8.9 =
15 26,649 + 987 =
16 48,3/ 6 + $/4 =
17 0.675 =+ /.6 =
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3 58 % /7 =
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5 §7 % 24 =
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9 §7 % 64 =
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11 /25 X &4 =
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18 68 % 4468 =
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8 Y34 + 7.3 =
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10 2924 + 8.4 =
11 7/ 4SS+ S48 =
12 5./38 + AR/
13 /7.5/2 + Yy =
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16 43,/76 + $/4 =
17 0./8L5 -+ 4.5 =
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19 /EEYE + 304 =
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14 /7L X L.7 =
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17 7.6 X 0.038 =
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3 76 X 63 =
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13 L5 X §&5L =
14 7L X 4.07 =
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6 66 x 7L =
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13 778 X 46 =
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3 &7 X LL =
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) L7 X &7 =
6 53 X /&8 =
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8 0.5/ X 3.6 =
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10 47 % 7.5 =
11 74 % &// =
12 S0 X 0./7 =
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15 687 X S/ =
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243 LLE 178909} SEY FEER R REEEE Y3340
7./ 64 3456 9,694 8,766
244 453 737 5§64
~2.87% pa60| -6.84/ 7984 <100 2100
78 726 258 537 BB ELROBMEBLHRERS B,
544 £87 497 573
£pE 05 WB 80A &
gt 85H B 90 5
58 955 BB 1005




B (R ~S )

12[m]

Em 1m5A (1004)

RAEHERME  GHEsm 35
GEE)  IEEMIEREIVIET,

1 &4 x $y =
2 LL X 58 =
3 423 X L0 =
4 67 X /& =
5 Ll X 74 =
6 /L% b =
7 74 X &7 =
8 75 % 0./ % =
9 37 X 75 =
10 b. L % 7.5 =
11 4L % 376 =
12 034 x 488 =
13 4797 % /6 =
14 7. % 3.07 =
15 /3L X 54 =
16 667 X &7 =
17 L.6 X Q478 =
18 7053 X &4 =
19 75 % 474 =
20 o.7/7 x 0.853 =

O 188 58 (10055)

PRESERIRE  (HImesm 35
GEE)  IMEEMILERBUIVEET,

1 /5946 + /9 =
2 3,900 + $2 =
3 5723 =+ 59 =
4 208 =+ /3 =
5 /76 = $s =
6 934 + 3¢ =
7 JH4OY =+ 27 =
8 2975 = 035 =
9 3268 + 74 =
10 /8565 + 2.3 =
11 29,670 + S48 =
12 2806 =+ Y4 =
13 /9.3/ 4+ 464 =
14 YEF 44 = /& =
15 39,698 =+ 44 =
16 S4.998 + §/4 =
17 OH4E/L = O.8% =
18 25299 + 937 =
19 48,95/ + 777 =
20 0.6707 = /L7 =




5512[]

== B
RERES BRI (HIREST 35) i
1 2 3 4 5 6 1 8
756 770 587 522 757 555 558 555
677 £94 /7 543 544 546 926 56
466 768 902 280 243 780 /46 485
793 4/ £32 446 677 223 668 293
732 472 983 5/6 457 39/ 640 550
9 10 1 12 13 14 15 16
576 568 /72 /78 370 547 28353 277
/993 4,506 5,559 2469 £.524 §./23 274 624
592 /29| /628 2498 209 453 4,606 5475
£37 3,042 58 556|  -S.244 3,856 744 975
5,959 340 578 459 653 395 /60 9,573
- — 224
17 18 19 20 PR
LRE LE/ 5§58 705 FEEE REEE REEE BIRERAL
3,628 2,032 2454 7,366
§/3 7/ 4 244 577
/922 /878 368 6.6/3) o <100 <10
7/ &7/ mS/a8 S0/] &HE L RORMEBH HRIERS B,
565 443 ~§9¢4 632
EPB 05 BR800 &
BB 85m  REB 0% &
ASE 5H  BH 100K




B (F1~5 )

iz & R (F1E~5F4E)
XAF REODONP G THEETY,
F1E 2 3 eI
RIEH PREGE REBEHE REHE PRESE REEBE REEH PRESE REEEH B3 PRESH REEEHE

1 5,828 &L 2,203 775 76 YL/ L4ER 72 <,/ 87 3,266 42 3,548
2 <376 2N &40 /7 LL 5L AN /R4E 38 L0585 6,984 53 S04
3 762 <7 3,076 /./ 0L 37 2,833 736 &4 2,600 6,048 37 <,885
4 /380 3/ /L7 3,268 743 3797 4,032 77 SLY 3,/08 &L L37
5 3.7/7 §¥ 2,68/ 8,366 &5 2,704 /7,738 éL 2,85/ 4,078 78 2,206
6 /372 78 /ALl 2,57 L 78 434 5487 /8 /47 é 4./58 78 /37
7 /768 <5 2,260 /548 L5 2,780 7,376 3L 2,353 3,74 43 <564
8 /4L 079 é2/ 7/ 5& /7,006 Lé./ & 72 &85 6.5 &4 /372
9 SH47Y <5 5,703 5,676 67 7,/ L0 8,762 L5 7,677 7/ L &7 /0./7/
10 5/.03 /L £,807 /998 SH /0777 73.6 S4| /0,567 /.78 0.5 7,225
11 L7,648 7L /777 §,000 L07 4,775 46,5/ 73 L6/ 4 75,686 L50 S44S
12 <,7 /4.5 49/ 7.2/ 4 47248 3.7 /4ELS 2,76/ 0872 /2,578 EEL 0.8/ X0O.L37
13 8754 378 4,ELE 3.8578 378 E45L 47,/50 L/ 4 3,675 43,824 403 /7Y
14 787/8 /38 /2ELL /77 60| /0,327 49.88 & /3,68 &84 LLE| /E,758
15 30,9466 L7\ /7,377 37,240 5L /L8577 /6,072 37 536 36,652 73| /4707
16 48,7928 Ll /0,637 /4794 4| /4787 30,3/ 5 772 /4793 L4025 LO7| /8,082
17 /578 042/ 4,06 0.5372|a 0.040 E7LY 0288 0473 3438 /778N 0.050 L,064
18 L7,648 E3| /3435 S/ .84 V254 VANV N 68,860 70 /6,655 7,852 &l /0,383
19 /7,700 §4 5,/36 73,374 éL 3,850 /G GEY 63/ 7,664 37,240 46 /652
20 0.03/ 0487\ /7.6/7 0.388 0748 &EL45 0.059 0385/ /9,697 0.088|N  0.60| /2707




B (F1~5 )

iz & xR (FESE~F8MHE)
XAF REODONP G THEETY,
5] e E7MH Z8[m
RIEH PREGE REBEHE REHE PRESE REEBE REEH PRESE REEEH B3 PRESH REEEHE

1 2,366 74 2,698 4,655 &é 3,025 236 &é /877 4,032 48 .77
2 £,0/ 6 %4 63/ 2,6/ 7 57 /385 788 57 s 2,204 /7 737
3 SH4Y4S /3 2,737 3,276 72 2,300 6,576 7L L4ES 3.8/9 74 <,/ 70
4 3./ 7L S¥ 46 7,275 74 /732 /702 39 /302 /548 5L &8/
5 2,268 &6 3,565 /235 /3 RV 3,/ 7L 35 <378 474 N 3,/ 0%
6 &850 38 553 6,072 78 2,/ 38 5,632 78 /3LE LH45L 4/ /358
7 6,336 <& 2,550 7,068 L5 /877 /376 L5 /768 /7L L3 3./ 40
8 L0079 045 /770 &/.6 &é £33 é./ L 3.l L/ 6 56.55 SL /029
9 /872 4L S4ST77 §.064 &7 /6,007 2,758 4l /8857 4,085 44 7,775
10 4888 3.9 &E.647 S44 50 &702 5/8.7 S5 /0375 /566 Q43| 7&.4/7
11 5,325 L/5 /074 L4775 &7 /047 /3,720 308 3,267 37,842 706 5,654
12 S3L7.56 4.8 /857 /5096 3.6 7,007 L7 7.04 0.65 &780 S7.476 &7 /72.270
13 L3856 &3/ L7794 45,708 403 /877 77,8574 372 3,340 32,708 <56 <,650
14 L7 3.04 74 7,73 L3L 0342 /6,/00 /2702 49 7,072 704 0.7 7,973
15 &3,/ 60 L7 /0474 S#,L30 S&0( /8,700 37,/85 37| /5,636 /8,048 L5l /EH4ST
16 LYL74E o\ /4777 4496 75 /9.385 /9,768 LO4| /3,323 /0,043 7/ SH4EST
17 /.5/70 0.044% 3438 0./ 44 0./38 42/ 5 0.688 0845 4,978 OLEE\N 0.0/0 3,826
18 L/ HIT7 /8L SUTES /8,642 /7 /7756 7,224 L& /300 /LHLET 44 /2200
19 3,840 L8/ 2,860 77440 éL 2,7/ 4 30,/08 44 /777 77,772 Jé 5,848
20 0238 0.653| /0,057 O./485|6 0430 /2262 0.0/ O4L7| /3,547 0.05/ 0.687| /2LLE




B (F1~5 )

fi2 & F (FIE~ZE12ME)
XAlZ REDOMN G THEETY,
%9[m 100 F11[0 F12[0

RIEYE BESHE REEEE RREHE BRI REFEE REEH BRI REEEE RIEE BRI REEE

1 2,523 s4| 3,92/ 738 67| 20/8 2,964 £ 3478 3,008 SY4| 3464
2 3,547 yy 256 3.5/2 53 508 /700 9/ 43/ /276 7% §&7
3 2,064 s/ 288/ /958 /5 3,989 2,/ 84 52| 29/2 &40 o7l 3.7/%
4 4,876 78 V] 3,942 97 §73 2,976 7% /7S /242 /6l /078
5 3,243 /2| 34483 2403 371 7033 249 Y /6| 3407 20468 371 2824
6 /392 985l /.07 9854 73| /084 3,240 48| /062 744 26 62/
7 5,236 23| 238/ 3.3/8 sl /.892 /4EE 37| 2890 §/78 s2|  3.458¢8
8 /7.02 6./ /.099 /836 0./9|  /.687 53.2 $&| /454 /0.5 g8 /.386
9 2,/ 28 s4| 70847 3.654 42| 2544 2496 sl 70.852¢ 2775 43 70,087
10 44.08 75 &.04¢ 446.% 8| 97466 Y248 072 9.5/ 57.66 s/ &.808
1 39.7/% /27| 3438 60,0/ 4 09| 2476 42,978 24| 92,072 /85792 sl 3923
12 25584 Q48 /1379 sS4y /&7 /4,652 20.352 §L4| /9.7/8 /649 006/ /7758
13 39,372 yo2| 370/ /3476 298| 529/ SU378 g9 /.85/2 6,704 29| 4944
14 5,344 $70| /9454 4872 4| 4978 2,808.4 s90|  9.004 RE42E 60.8| /3774
15 /0,860 23| //.979 2/,297 73| /8820 27,680 s /6,083 7./ 28 §63| &.6/7
16 /9460 92 4.6/9 4,032 /58| /6,589 30,960 29| /6,759 59,343 /07| /7,087
17 2./7/ 0.//4 3297 0.04/ 0.69/7  /.843 6./67 S 44s| 5,628 /086 0.537| 2794
18 45,/36 73 10776 / 3./ 66 48| /7247 39,903 83| 10427 59,052 7 /1779
19 /8564 s/ 2837 /4,790 380| 2452 68,799 80| 430/ #4256 63| 3204
20 0.044  0.88/| /5854)A 2380 0.088| /4,933 0.366 0.027| /9,097 076/ 0.528| /6394




